


Convert these fractions into decimals:
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Answers

02 2)3- o025 3 3 =o0375 4 4
12 8 5

175 6)—1—= 04375 7) L = 0166 8 L
16 6 2

225 10) -2 = 04 11) L = 233 12)_8 -
15 3 20

06 14) 38 - 266 15) L = 077 16) 2
6 9 5



Problem Solving and Reasoning

Answers

True or False?

0.3 is bigger than

Explain it
one quarter
1 because one
03is blggm than 2 quarter is
equivalent to 0.25
Explain your reasoning.
Explain i1 Josh says, Both are correct.
The decimal 0.42 can Four tenths are
be read as ‘four tenths equivalent to forty
and two hundredths’. hUﬂdrEdthS, plus
G & the two hundredths
Ll elo) equals forty-two
hundredths.
The decimal 0.42 can
be read as ‘forty-two
hundredths’.
Who do you agree with?
Explain your answer.
Explain it .30 25 .
Hannah and Alex are converting — ERil divide by 5,

into a decimal.

*  Hannah doubles the nurmerator and
denominator, then divides by 10

»  Alex divides both the numerator and
the denominator by 5

6
*  Both get the answer oo = 0.06

Which method would you use to work out
each of the following?

25 125 40 350 J

500 500 500 500

Explain why you have used a certain
method.

known division fact.

125
i double,

easier than dividing
125by 5

40 .
=k divide by 5,

known division fact.

350
i double,

easier than dividing
350 by 5




Convince me!

Veg

Pete shares 6 bananas between some
friends.

)

Each friend gets 0.75 of a banana.

How many friends does he share the
bananas with?
Show your method.

Pete shares his 6
bananas between
8 friends because
6 divided by 8
equals 0.75

Prove it!

Neg

Charlotte and Stephen have both
attempted to convertg into a decimal.

A
ﬁ ‘% | converted E into 0.25

Z.
| converted Z into 4 7—

Who is correct?
Prove it.

Charlotte is correct
and Stephen is
incorrect.

Stephen has
divided 8 by 2
rather than 2
divided by 8 to find
the answer.




Further Challenge
1) Give either the decimal or simplified fraction
that will make these number statements true.

4 _
3 . 300 -
24 Y500 1

2) Copy and complete each of the number statements
in three different ways. Try to use all the different
fraction cards and decimals of your choice.

? ? ? ? ? ? 2 ?
20 25 50 200 |500 8 5 3
a) + +0___ =1

b) + =0._ _ = an answer between 2 and

c) + = 0. = an answer between ; and



